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6. As in the figure 1, there are four circles with radius of 2. The four

circles are apart from each other. Link their centers to form a quadrilateral, then

the total area of the shaded parts in the figure is( )
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14. The original railway from A to B is 310 km, and now a 280 km long high — speed railway
is built. The train speed on the high — speed railway is twice the original speed, so the traveling
time from A to B is 2 hours shorter. Then the original train speed on the original railway is

km/hour.
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